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O0l1. Incomplete Part Completion

1. €, LHo|7r Al ZHof B3 2= 7S F=7F

Timekeeping.java

int alarmNum = system.alarm.getSize();
AlarmData[] alarmLi system.alarm.getAlarmList();

for (int i = 8; i < alarmNum; i++) {

AN E R 2t d-dayE H| 2510, d-day
ot o3 H| &2 7F Z e .




O0l1. Incomplete Part Completion

2. timeout 7| 7+

public void startCheckTimeOut() {
checkTimeOut = new Thread(() -» {
while (true) {
try {
Thread.sleep( millis: 1888);

if (java.lang.System.currentTimeMillis() - lastOperateTime »>= TIMED OUT) {

lastOperateTime = java.lang.System.currentTimeMillis();
switch (selectedFid) {
case 1:

if (timeKeeping.getMode() == @ &8 mode == 1) {
this.cancel();

GUI. setView(GUI.timekeepingView);

} else if (timeKeeping.getMode() == 1 && mode == @) {
timeKeeping.cancel();
GUI.timekeepingView.borderPanel.setVisible(false);

¥

break;
case 2:
if (stopwatch.getMode() == 2) {
stopwatch.cancel();
GUL.stopwatchView.borderPanel.setvisible(false);
¥

break;

Timekeeping, stopwatch, timer, d_day,
alarm, alarmcustom 67tX| 7| s B 5%
timeout 7t 2t =

case 3:
if (timer.getMode() == 1) {
timer.cancel();
GUL.timerView.borderPanel.setVisible(false);
String tmp = timer.getTimer().getCurrentTime();
StringTokenizer st = new StringTokenizer(tmp, delim: " ");
GUL. timerView. setHour(String. format("%02d", Integer.parseInt(st.nextToken())));
GUL.timerView. setMinute(String. formot("%02d", Integer.parselnt(st.nextToken(})));
GUI.timerView.setSecond(String. format("%02d", Integer.parseInt(st.nextToken())));
}
break;
case 4:
if (d_day.getMode() == 1) {
d_day.cancel();
GUI.d_dayView.borderPanel.setVisible(false);
if (d_day.getD_day() == -1) {
GUI.d_dayView.setYear(" ");
GUI.d_dayView.setMonth("NO");
GUIL.d_dayView.setDate("NE");
T else {
string curbDate = d_day.getD dayDate().getCurrentDate();
sStringTokenizer st = new StringTokenizer(curDate, delim: ™ ");
GUI.d_dayView.setYear(String.format("%02d", Integer.parseInt(st.nextToken()) ¥ 188));
GUI.d_dayView.setMonth(String. format("%02d", Integer.parseInt(st.nextToken())));
GUI.d_dayView.setDate(String. format("%02d", Integer.parseInt(st.nextToken()))):




O0l1. Incomplete Part Completion
. L N Timekeeping, stopwatch, timer, d_day,
2. timeout 7|5 +¢ alarm, alarmcustom 67tX| 7| & 2 &
timeout 791 t=

case 5:
if (alarm.getMode() !'= @) {
alarm.cancel();
GUI.alarmView.borderPanel.setVisible(false);
1
i
break;
case 6:
if (alarmCustom.getM
alarmCustom.cancel()
GUI.alarmCustomView.borderPanel.setVisible(false);
1
1
break;
1
i
GUL. setView(GUL.timekeepingView);
functionNumIdx = @;
selectedFid = 1;
1
!

- catch (InterruptedException e) {

e.printStackTrace();




O0l1. Incomplete Part Completion

3. unittest &=

setTimeTest() » dA 2f= 0 7t=X] 22l

’

timekeeping.requestTimeSettingMode();
for (int i ; 1< 5; iH)

eValue
( system.alarm.

system.alarm.

system.alarm.

timekeeping.changevalue( dif ; system.alarm.

timekeeping.requestSave(); system.alarm.
assert (time.toString().equals(

assert (date.getCurrentDate().equals(

system.alarm.requestSave();

system.timeKeeping.setAlarmCnt(system.alarm.getSize());

assert (system.timeKeeping.getalarmCnt() == 1);



O0l1. Incomplete Part Completion

3. unittest &=

controlStopwatchRecord() — Z QI E{ 7} ZA|Zf S S0 7}=X| =9l

stopwatch.requestRecordCheckMode();

assertTrue( topwatch.getRecordPointer()

stopwatch.movePointer( -1);

assertTrue( C on: stopwatch.getRecordPointer()

stopwatch.movePointer( 1};

assertfrue( C stopwatch.getRecordPointer()

stopwatch.movePointer( 1};

java.lang. .out.println(stopwatch.getRecordPointer());

assertTrue( iti stopwatch.getRecordPointer() == 2); //




O0l1. Incomplete Part Completion

3. unittest &=

resetTimerTest() — pause=l 2 EJO| M = reset
0| E|=X| 2l

setTimerTest() = AA|4t= HOH7t=X| =2tQl

timer.requestTimersetting

for(int i = @; 3 i)
timer.changeValue(
timer.changeTy

1

1

timer.changeValue(

timer.requ

time = timer.getTimer();
assert(splites

timer.

splitedTime

assert(spli

assert(splitedTime .equa )3 assert(spli



O0l1. Incomplete Part Completion

3. unittest &=

controlAlarmListTest()

setAlarmTest() — A4S 0 7t=X| =2l — A2t Hoj7t=X| &ol

assertEquals( alarm.getAlarmPointer());
alarm.movePointer( D 1);
assertEquals 1, alarm.getAlarmPointer());

alarm,changevaluet alarm.movePointer( D 1);

alarm.changeType(); assertEqual s alarm.getAlarmPointer());
alarm.changevalueﬂ alarm.move er( S 1);

. assertEqual s , alarm.getAlarmPointer());
alarm.changeType();

alarm.mow

alarm.changeValue(

assertEquals( e 4, alarm.getAlarmPointer());
alarm.movePointer( fo1);

assertEquals( ¢ &, alarm.getAlarmPointer());

alarm.movePointer( dift 1);

assertEquals( &, alarm.getAlarmPointer());
alarm.movePointer(

assertEquals( .getAlarmPointer()}; /7




002. Specification Revision

1. Stage 1000

1.1 A|ZF 27| (TimeKeeping)
H3 8 2. 88 M8 23 2B HE 23 M+ pday EECED
H3,8 2,82 A, &,

+HES0 HAT 5 A0

a7l 7|58 HSSH= SAS ABS0L



002. Specification Revision

1. Stage 1000

1.2 E}0| O . Ee A 10740/CH
NEXT Y= Al & XS MES == 0I0) - N SEEY U= EHELES
OIDIE ARS8, & BYE SHEE e BTt SR
HEE O ET0| YAIRRY E7|5 75 e s R
EFOID4 ] AI7+0] 00] 5|, HH7} S RICE - SEWSR AN EA, R
SEEHHNE UE 5 AG =8
BIXE EEX 2AE L, MHL A4 g, - SEEHAEESSAR

XS UTR PAS FL, HEE

EFO| = 2|0 1740ICF.



002. Specification Revision

1. Stage 1000

1003. Define Requirements
1.4 28 K|

- 2EHAE AIAOHE, & HR| 2 HI|E AlZH0| S0 HC]
- 2EHAC ZAER 52 T S0 7| =50| 7hsotot.
- Htf 10749 /| SAHA HE 7Hs Ol
- 1070 S RSHA &, 71 @ E 2|15 0] Kb 2 AbA| ECE
715 & AlZH2 37l 2 0j &L,
- HESAESH0 7|55 HF = 5 UCHL (ZAIE X SEf L)
- 2EHA e T S0 LAIEX| 7 7Hs 6o
- ZAEA SHIUAM 715 E7] /s 2 AH8OL0 HMIHA| 2| /| SE2
=T AL
- YAIEX SEOIM AlESHEH A Z K= OO A R =T,
- YAIEXA HSEHOM CHE RtHO 2 Tt $ LAl AF YA 2tHo =
S0tetE SAIEX| 2 SEl 7 7 AIE
- AEYX|E 7|97 LS5t




002. Specification Revision

1. Stage 1000

5t 7t Al WHOICE D-day 242
1003
-8R 7t X% O D-day 7R 2] SREZE 14 2

D-day & #C§ 9999 0|}

~D-day = HTHZSE| A|CH 9999 @ O|F MK €73 7Hs3ICt

W 2, 2 =30 75

LE=o 0o SmDH 0| IS0

QEEro Ut S EM2| JO|E S B B0 EDL

27 A2 I 0D D-dayTHE] 8] S M2} 14 Zh4-SH0L

D-dayE 20994 128 31 YT 23 7t=5i0

2099 128 31'Y 0|F 9| YW= D-day= EH T = SICL

D-day= 2 5 207 21 EMZEEH s99% 0|4 20| 7 LI'H, D-day=
999= /|

D-day”t 00] &&= 2 A A ZHEHALE| O] Bl R2| & &AL OFF SO A
ALBRZHE RE| A S HE + UL

TFok D-day 22 D-day S 2 A|5HA| 2L OS2 0| & D-days 2 H ECL




002. Specification Revision

1. Stage 1000
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1003. Define Requirements

_
1.6 €& HAH 7|5
A2 2| AE A LS SILE MEISIO] ol UTO| A2| F 7|t AT
HAS R 5= Ut
gt 20 S2AH/ A /HE /2 /A0 571K 7 =R o),
orzt 7tA4 2 g 5%,0.75%, 1.0X 2 2 Mdat 4= 9lC},



002. Specification Revision

1. Stage 1000

AlA §|-E1:j_j:-|| ey |_=_-é

I 1003. Define Requirements

Set Time ALt L 2R-E 28 e
Display Time Aldt, 28, 23, 28 00|, 8 /I, D-days AT}
Set Display 671 715 = AMA SHEO BAIE 4748 /S5 2B

(1003 TimeKeeping £ £ & 1)

Cnd Tirmanr FEAIMH = A4 TH=L0L



002. Specification Revision

1. Stage 1000

1004. Define Requirements

I Stop Timer Buzzer Ef0|He 5 HE BH=0E

Start Stopwatch 2E/RE AIFET

Pause Stopwatch AEHUAE LAEA|BLCE

Reset Stopwatch 2EUMNE SA B 08 F 7|50
Record Stopwatch 2ESAZHEEET YL O HE S A D AT MIHE

IS0 (= 107)



002. Specification Revision

1. Stage 1000

Beep Alarm

Stop Alarm Buzzer
Display Alarm List
Control Alarm List =

Set D-day



002. Specification Revision

1. Stage 1000

1003

~FHHLE C
steig WESCH

~THA EHOR £

Control Alarm List 2
BOSA EAIE| D Q1= otEHS CHE L2 2

'1::%% HEFOI O, A SIR]) AlA

7|2 BEZ S0t

—=E& 0 FAHE2= HAL
B ZEQM €3 == 10 2t 0 ZEGHA| 22 ™ default

St H(timekeeping St H)2 2 S0pZICH




002. Specification Revision

1. Stage 1000

1003. Define Requirements

Control Alarm Custom List FHAE o3 3| AEO| EOIES 9| OFFS EXEIC}

Set Alarm Interval UE0| EC= {HE S S8

Set Alarm Volume WEo| EES HESH
Change Screen Set DisplaytlA S8 =M=z OS 5fHe =
FEst}

Time out ZECOM EE =F 102 S0 O HELE TXS5IHX|
2O @ default 5 H{timekeeping 'H)2 = SOpHCH

Cancel ot UE HYPS FLokd, S EHY |2 HER

= ORI



002. Specification Revision

1. Stage 1000

S AT 2R, A, B, =

LEX AZIIR| Al B, ZE MFE 7}

1004
(1003 Ofl M £E3H requirement 2| L2 &

1004

1004




002. Specification Revision

1. Stage 1000

1004. Record Terms in Glossary

Timer S NZTX A, £, 2 2Fo] IR EQ2SE JIs
Stopwatch LTS ADCRRE S22 AVSHE TS
User CIXIZ A AER
Start 1S 715S AT
Reset WS 715 S 2| 7|5 Bt
Pause A 7|58 QAT £I|SEX| B
Set mALS) 2HZE THA



002. Specification Revision

1. Stage 1000

Control Alarm List2 — Control Alarm Custom List(BZAE

- Allocate system function
into Related Use-Case

~ 1006. Define Business Use Case

R4.6 Control Alarm List 21. Control Alarm List Evident
R51 . Set D-day . 22 Set D-day . Evident
R52 - Border D-day - 23. Border D-day - Hidden
R5.3 Stop D-day Border 24. Stop D-day Border . Evident
R5 4 Delete D-day . 25 Delete D-day . Evident
R6.1 - Control Alarm Customn List - 26. Control Alarm Custom - Evident

List



002. Specification Revision

1. Stage 1000

2] use case diagram MM = system L2 5 use «

MHorsE7 | 7 ({E L Use case by actor = actor 2
QUHOE Bt system LHO|A 28 use case £0] O

A& SAIE 4 I0{0F Lt

Control Alarm List2 — Control Alarm Custom List(H Z ALz &




002. Specification Revision
1. Stage 1000 —




002. Specification Revision
1. Stage 1000

Control Alarm List?2 — Control Alarm Custom List(

HEANE HE)

1006. Define Business Use Case
- Describe Use Cases

25 Delete D-day

User

Description

HEE D-daym 4HE
e [T

Y elaeg o0 O WSS fesi



002. Specification Revision

1. Stage 1000

Use case 2| description O O 2 M|5HA| 2 &= RLO{OF L S E use

case 2| M| = Q| A2 HA|B|OF BHC},

0~59 T+

= QUCH ERE= YY/MM/DD =22 88T =

20| 20 AHS 22 HIFES B}
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1. Stage 1000

002. Specification Revision

1006. Define Business Use Case
- Describe Use Cases

Description

Diescription

ARERFE 712 BhEol A =R AL 2 W, AZks dEEN.

HF 7hsd Az gHe AL 2, 20|32, A= 0-23, 23 = 05901
HRE 5 Do SWs YY/MMDD =0= M3d o= Qi gfie Sus
HH= 2o S50 E02 H=S Sot

2. Display Time

Mone

®7] 47, OY A|7HS TimeKeeping BHH0] HOj=C}



002. Specification Revision

1. Stage 1000

SH£0f test case =3 O 7A

Control Alarm List2 — Control Alarm Custom List(SH ZAE HL




002. Specification Revision

1. Stage 1000

1 Set Time

2 Display Time
3 Set Display
4 Set Timer

1009. Develop System Test Case

AJZH0] RAEO = S| X| BB
A|ZH0| X CH|Z WS|5lX| BOISHT}
QX7+ Z|Of3 M K| BOISH},

IS MO| LpsE| 2o X| SoisH}

ajr

2 0HEHQIA] HEs 4712
ange Screens

TimeKeeping |

|
ar
r=
MU
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rat
ret b
=
|
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at o
=

R12

R13



002. Specification Revision

2. Stage 2030

203]1. Define Essential Use case

Typical Courses. of Events.

[A] Actor, (S): System
{A): A|ZHEH D=2 oH6I0

(S): A|lZH 2 D=2 FHESIG
(A): ME HES sa0)
(S): M HES S5 0 OpEEE F7hAL 2 = W 8 T8 =4f=
Z|Hck
A+ u|=c=gz.l:.ur_| ARZbEwE 2 72t §F ¥ g H=e=

) Beo= BS 370l 471 EAE
6 (A):OFY E£38 oD AE HES a0t
T 27 B e N LS END R Tmakeeping 0102
7 -

B

i

Altemnative Courses of Events

A




002. Specification Revision

2. Stage 2030

Typical courses of events 2| & F0| L= 3L},

Typical Courses of Events (A)-Actor, (S) System

1. _(A):7]ls #HeIHE Q¥

2 (S): 7= €4 ze=z FHEsttt 671 7| =5(1. Timekeeping, 2. Stopwatch, 3.
Timer, 4. D-day, 5. Alarm, 6. AlarmCustom) = S M EHE| 2= 47l 7| 52|
AL 470 S0 =AM 2 LEEFL

A) U EEEss 4fn TS TAUE ViSOt 5 2dg 7S ciserth
(S): A AL 8EE 2l #7HS HA|EHTL

(A) : 7Zt0IC =X II Heict

(A): EE 28 0X 1 M a¥FTtrt

(S) : AH8 XS] #iZ ArEHS X Z5tA TimeKeeping SH3H O 2 S0RZICH

|'|]|| \

SNmo A w




002. Specification Revision

2. Stage 2030

3 O YA|IZX| AEfCIOF BH=X|, OFLIX|Of

Use Case 15. Control Stopwatch Record
Actor User
Type Evident
Pre-Requisites A= *| 2HHO|0fOF THCE.
AEOIT1 712 0] QI0IOk BHrL,
| ASQIXI7 YAIHXIE AFEHO{OF BHTH
|




002. Specification Revision

2.

Stage 2030

ZoIE7 7te7 = =

=ZOQIE7} 7}2|7| = &

[ —

Typical Courses of Events

(A)-Actor, (5).System
I oEReds 2=
2 (5}:%*%“&5“EEEEE.
3. (A):+-BES=Z U ZOIHE HO{BHCL
4  (5): = lE[7} ?fEI?I% TE S BASH



002. Specification Revision

2. Stage 2030

+- HELE interval(H S/E&/4)E 4 2HCH
-T2/ E/4 4 M AMESE 05 2, 1 %, 15 2% 2t= 4= BH

o2 Mz

NS/BE/UE05XK/0.75FK /1K 2 M™HSHRICE

(A):Actor, (S):System
1. (A): +.- HESZ Interval(0.53E/0 75EME)S MESIT]
2 (S):ol2 Lo 7HH S MHEH == EO{ELCL
3. @A):H8HES SELL
4. (S):Alarm Volume 83 R EZ2 HO|F7HCH




002. Specification Revision

2. Stage 2030

—Timer, stopwatch 7} 43

ChLEHS 233

\ 2031. Define Essential Use case

timeout= OftH At

S =13 = Use Case 30.Time Out
SO N .= 2D -~
[ A L Actor N
= Ao = =5} ~
Type Hidden
91E|--
Pre-Requisites Otx| o} 5 2 o = ofF §= gio] 10:20] X|L{of SHCE

TimeKeeping 5}H2| 7|2 2 E 7} OFL| 0{Of SHCH

Typical Courses of Evenis (S): System
1. (S): TimeKeeping $}72] 7|2 R =2 S0l7CH

Altemative Courses of Events N/A

Exceptional Courses of Evenis | N/A




002. Specification Revision

2. Stage 2030




002. Specification Revision

2.

Stage 2030

2031 A CIE L|BS HiEoR 5

Use Case - 1. Set Time

BN =

(A): AlZHEH
(5): AlZH4H
(A):
(5): 95
DfEH“E;o* TFIHAL &, =,
9l)y2 = MOI2 HASHCE
(A): + H{ES=Z Zt 31719
AZHER-Z *E”EJE*EI. 2 EH
S g ECR CLg J7IC R
=H0jZiCH

(5):CIge= d™HE 7t9]
=AHS HA|SICE
[A} |:||.;(||:|I- Ad
HES ==rC}

[— —
(5): 24 42 ISt HEE
AlZtE B AT = Timekeeping
ZHHS 2 F0pZHCH

riok okt
rotrat

nn
e

m
=

E“—_
EE
mr

m

=

oo 13 1o

ir4r i In
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F
é#mm
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2 0hD K

Use Case - 27. Set Alarm Interval

=l
=,

1. (A):+-HES=
Interval(0 530 75EMEYS
HEStC}

2 (S): of| & oteto| 7iH =
Mensl 2 HOjED}

3. (A):HEHESSE

4. (S):Alarm Volume 27
pCc2 dojzict.




002. Specification Revision

3. Stage 2040

~ 2041. Design Real Use Cases

Use Case 21. Set Alam Interval

Actor User

Type Evident

Pre-Requisites AT 2| AENM FHAHS S MBS HE|0|0]0f ST
Typical Courses of Events (A)-Actor, (S):System

1. (A): Stari(+), Resel(-) HH =2 2 Inferval(0.57/0. 753/1=)2 M =48t}
2. (8):3lig 2Eo| 7S MElE =2 HO|ECL

3. (A):SelectHE32 =20t

4 (S):Alaim Volume 273 B C2 HojZict

ok
i
il
&
ot
re
M
ofo
=2
EQ
fim

Aliemative Courses of Events | line 1: 0~ 2 7HA]2] ==At7F L}EFS = QICH Or HAZHS
(@0l B7Iet7L B4stR] 23)
[0: 05, 1:0.75%E, 2 1.0E]

Exceptional Courses of Events | line 1~3 : AF2A7t =50] Cancel ot'H H3 22 HE K| g=Ct
Time Out0] 2458 dHEzke MEE|XA| 2=l




002. Specification Revision

3.

Stage 2040

\ 2041. Design Real Use Cases

Use Case 30.Time Out
Actor None
Type Hidden
Pre-Requisites Opx| o #52 oF = OFF S 2l0| 10:£0] X|Ltof B
TimeKeeping 52| 7|2 27} OHL|o{of S
Typical Courses of Events (S): System
1. (S): TimeKeeping 3t712| 7|2 2 ==2 SORZHCE
Altemative Courses of Events | N/A
Exceptional Courses of Events | N/A




002. Specification Revision

3. Stage 2040

D-day 7+ 0 0 I® A|A2] 7bEIAIE| 8 EA|SHC}

2042. Define Reports, Ul, and Storyboards
- TimeKeeping
- ERH6)2t 8 2(3) I AlZH6), D-day(3), L 22| 7i=(2)E EAISH= 2071 2]
14-segment LCD display 2 T4 =0 QICE
-yt J|==of mef g ofo| 2= EFHEICL

D-day7}00] &% A|A 2] 7HEtRt2]0] Bl 52| 2
HA|SHC}




002. Specification Revision

3. Stage 2040

2042. Define Reports, Ul, and Storyboards
- D-day

- EWH6)2 D-day(3)= HE57| 2l 972
14-segment LCD displayZ} @I C}.

- Select HHEE =2| D-day2d RE=
T YL

68/
- Start HE}Reset HE2Z 4 & US & BE* E]'B
HHPICL EEE

Select

- SelectHlE2=2 H 2 UE 0|5THCL

- Mode HHE2S = &5




002. Specification Revision

3. Stage 2040

Select HE S 2 interval 2 volume £ H|O{SHCE,
—Select HE 2 2 interval It volume & 0}

Start 2} restart HE 2 2 interval 2} volume €

2042. Define Reports, Ul, and Storyboards
\ - Alarm Custom

- 37§e] ¥2H18) 1t F7HY), 21
=HH57| 9|4l 207112] 14-segment LCD
display”/ 9L}

- Start HEJ}Reset HEC 2 U F|AEE 8 ~+B

- Select HE2 2 intervaldt volume S
0| =2t} £ 5t Start®} Reset HHES = Select
Intervaldt volume = A|0{ L}

- Mode HHE2 2 X ZEFsiC]




002. Specification Revision

4, Stage 2050, 2060

System Test2} Functional Requirement
le_
=




003. Testing Revision
1. Set Time

4, 9, Yo TtE 2 o] ALt
—HIEZ HZAE T = Zi0| OofL|2} C
ZEC,

“ZA|"2H= BH0| B RCE s
2N 2= 15 20f d4lElCt
1_*_ _C:D_ ITI E-I t xo_lé)l-x_-ll EE I_II- :;'oonaHeo 11 hours ago
SotLt

Of HO| YSITR U2 B O HAE
sj= L7t gt

. sys09270883 3 minutes ago
- G oSS LT AL T




003. Testing Revision
1. SetTime: &9 |9+ 2

S| BTl 2

L3|_ = L

-2 32 H 9ot LHHTI 4o HE Qifhe21 Wi =

EMtA|T 2024 4 2 20| 29 27HA| EXfLt. &

(-

timekeepingdt d-dayd| M &= 0| 2| X 2| 2.

[4] ==
temp, year =
tmpNumOfDay

temp = year % 4
temp == ©
temp = year % 100

temp == 0) {

temp = year % 400

temp == 0
tmpNumOfDay

tmpNumOfDay

—

I
L

tmpNumOfDay = 29

¥

tmpNumOfDay = 28

%]
0

=



003. Testing Revision
2. Display Time: d-day A

|12t U 9o - C =, OIO| 20| & HA|L]

A
Ct.
MM K
="

SEIA 20F #AIZA] Z=Ct

d-dayZt @ - L QUX| YO MH 000" 2 BA|SHA EHT

q Display Time AlZH SR, @Y 22 ofo| 2, & 74, D-day(Z 0| [~}
T 0| QI K] %o m “0p07)y= HA|SHCH



003. Testing Revision
14. Display Stopwatch Record: 8] ~E =9

Hoj=Ct

q Display Stopwatch Record AEHA 7|12 2|l 2AEEFHO 371)E LY E =2 =




003. Testing Revision
15. Control Stopwatch Record: 2] ~E %3]

7\20] ZAjcT| %2 39 7|2 g9 B2 FEE YL g9
sict

sselect button = 2 A7 £210 9100 7|E &0 GEZ H

requestRecordCheckMode ()

N (getSize() == 0)
=0l = ofe 740
‘ 7| _'(_)._l |_§|>'|O|'§| = = N changeMode (2)
7| = = 2l= XA O 2 X 2| =



003. Testing Revision
18.Beep/¥ann

wmra

22|x| LOtA 2
Beep Alarm

20| AAEE 251} €

_or2t0] 22|x| 2ofM 2

system. ==
o] F=1;
1. 250
277158
alarmNum = system. .getSize
BOLASE . -
—|—7|'O'9):|\E|'. AlarmData[] alarmList = system. .getAlarmList
i=0; i< alarmNum; i++
.equals(alarmList[i].getTime() {
1 9‘|AE' 7|iE system.b larmList[i 1(), alarmList[i 1
. — O o system.beepBuzzer(alarmList[i].getInterval(), alarmList[i].getVolume()
MAFA O
SSo 1
J
N A==e) |-
A STHE



003. Testing Revision
19. Stop Alarm

Stop Alarm




003. Testing Revision
26. Control Alarm Custom List

7} specification O StA| S}
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30. Timeout
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30. Timeout
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